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Which one of the following is NOT a part of a polarimeter?
i) Polariser
ii) Resistor

iii) Analyser
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iv) Biquartz

In experiments on interference, a biprism is used to obtain:
i) Polarised light.

ii) Circular fringes.

iii) Coherent sources.

iv) White light.
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Which physical quantity among the following is MEASURED in the experiment on
diffraction of a thin wire?

i) Focal length
i) Resolving power
iii) Wavelength
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iv) Fringe width

In the experiment on the resolving power of a telescope, which one of the following
instruments is used for measuring small distances?

i) Travelling microscope O
ii) Vernier Callipers O
iii) Screw Gauge O
iv) Spherometer O

In which one of the following networks is a metre bridge used for the measurement of
variation of resistance with temperature?

i) Pinetwork
ii) T network

iii) Wheatstone’s network
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iv) Triangular network
A hysteresis curve shows the variation of:

i) Magnetisation with magnetic field.
i) Resistance with temperature.

iii) Current with voltage.
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iv) Time period with length.



10.

11.

12.

How many coils are used to determine mutual inductance using Anderson’s bridge?
i) 1
i) 2
iii) 3
iv) 4
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An off-balance Wheatstone bridge is used to measure:
i) amplitude of the signal.
ii) angle of deviation.

iii) strain of a cantilever.
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iv) refractive index.

In the Experiment 9 on voltage amplification using a BJT, the frequency range of operation is:

i) Audio frequency region. O
i) Microwave frequency region. O
iii) Infrared frequency region. 0O
iv) Ultraviolet frequency region. O

The interior light of a car should switch on when any of its four doors is open. Which one of
the following gates is used to perform this task?

i) AND
i) NAND
iii) NOR
iv) OR
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The logic equation representing an AND gate is:

) X=A
i) X =A.B
i) X = A.B
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iv) X = A+B

The resolution of the digital millivoltmeter used in the measurement of Hall voltage is:
i) 100 pVv

ii) 200 mV

i) 1V

iv) 100V
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17.

18.

How many data points from the following should be taken to correctly estimate the mth

harmonic component in a periodic waveform?
i) m

i) 2m

iii) 3m

iv) 4m

The light used in a polarimeter having biquartz is:

i)  sodium light.

ii)  white light.

iii) light from He-Ne laser.
iv) light from ruby laser.
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What is the typical separation between micrometer eyepiece and the Fresnel biprism in the

experiment on interference?
i) 0-5cm
ii) 15-20cm
iii) 50-55cm
iv) 70 —75cm

In the experiment on diffraction pattern of a thin wire, a fringe pattern with
contrast is observed for which alignment of the slit and the wire?

i)  When the slit and the wire are at an angle of 30° with each other.
ii) When the slit and the wire are at an angle of 60° with each other.

iii) When the slit and the wire are perpendicular to each other.

iv) When the slit and the wire are parallel.

The resolving power of a telescope having resolving limit of 0.01 is:
i) 0.1

i) 1

iii) 10

iv) 100
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In the experiment on radiation from a hot filament, what is the function of the galvanometer?

i)  To measure temperature of the filament
il) To measure voltage
iii) To locate the balance point

iv) To locate the off-balance point

g
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Which of the following CANNOT be determined using a hysteresis curve?

i)
i)
i)

iv)

Which one of the following is NOT a part of the Anderson’s Bridge unit?

i)
i)
i)

iv)

From amongst the following, which two parameters are important for the measurement of

Retentivity
Resistance
Coercivity

Loss of energy

Variable resistances
AC source

Detector

DC source

strain?

i)
i)
i)

iv)

linearity and sensitivity
linearity and resistivity
sensitivity and resistivity

retentivity and resistivity
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0000

00030

The typical values of the capacitors, Cg, Cg and Cg in the experiment on RC coupled
amplifier using a BJT are:

i)
i)
i)

iv)

If in the experiment on AND gate, both diodes are given an input of 5V, what is the output

10 pF
10 uF
10 mF
100 mF

voltage?

i)
i)
i)

iv)

Which one of the following gates is a single input gate?

ov
S5V
10V
15V

OR
NOR
NAND
NOT

000aO0 0000

0000



25. Which one of the following methods is used to fit data in the verification of Kepler’s third law
of planetary motion?

i) Method of undetermined multipliers
ii) Monte Carlo method

iii) Method of least squares

0000

iv) Time series analysis
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